AF-2491 BEC1C1

B.Sc. DEGREE EXAMINATION
NOVEMBER 2010

First Semester

Electronics and Communication

ELECTRONIC MEASUREMENT AND
INSTRUMENTATION

(CBCS—2009 onwards)

Time : 3 Hours Maximum : 75 Marks

Part - A (10 x 2 =20)
Answer all the questions

1. What are the advantages of electronic measurement?

WlesTevTenn) SHeeflB&edletT LILGTUMBSET WiTeneu?

2. What do you mean by Standard?

ST 616y 616dTLISEIT EIITIHEIT 6T60T6017

3. What are the uses of signal generators?

FUHMS 2_([HeuTSSS6rf6ei 2 LIGWNSMISET Wmemeu?



. What do you mean by logic analyzer?

S(HES6MLd LIGLILIMLIE &(Hefl 6165TmITed eTedTedr?

. What are the advantages of DVM?

6T600T6Eu01l60&:S LO6OT H60@G LDMevfludledT LILIGSTLIMBSET Wimemeu?

. what do you mean by auto ranging in DVM?

eTenTennllens: s 6T v Wnesfluferr snesfluimrued euflens

T6DTITED 6T60T60T?

. What are the disadvantages of analog storage

oscilloscope?

RUIe08s CFOILIL SieweoBHrsdullett GLPLILIS6IT Wimeneu?

. Write a brief note on Power scope.

BmetT Heweo@EMsHE LD fmn SHILIL| 6ueDTs:.

2 AF-2491




9. What is meant by ATE?

ATE@str eflengsib erettenr?

10. What is the difference between microprocessor and

micro controller?

6»W&EITLTTeNEFIWLD 6nD&ETTS 60T Crmevenrud Geum)

UGBS

Part-B (5 x5=25)

Answer all questions

11 a. Give the characteristics of transducers.

LOMe3TeIew |FTSH6T65T G6TThISENsT Famis.

(Or)

b. Describe AC Wheatstone Bridge.

a1.8l. umeo SlemwLilenest efleurfl.
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12 a. Describe sweep frequency generator.

OLBHS HBTe6uetor 2 (HeunsSemwt effeurfl.

(Or)

b. Describe AF generator.

aFsflujevont Sife\auetor 2_heunsBufement effeurfl.

13 a. Describe how automation is achieved in voltmeter.

Wesrerren@ omesflulled HmesflluimiGd HetTewmi eTeusuTM)

gHUGSSLILGS6TDE| el6tTLINS 6fl6urfl.

(Or)

b. Write a note on guarding techniques.

UMGISTLIL HIEI&SMmISET LHD GOILIL| 66enrs.
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14 a. Explain dual trace oscilloscope.

SULewL SiFs Jlemeo GrnsBufener efieurfl.

(Or)

b. Describe curve tracer.

6UemEIT6) HF&SS[HeNullemsor efeur].

15 a. Explain testing an audio amplifier.

ageflueort OLmHSBulement LflGFngement A&wioug LM

eNersS.

(Or)

b. What are the requirements of an automatic test

system?

sesfltigld LfGsnsemen SenLbLINelT C5HEmeus6iT Wimeme?
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Part - C (3 x 10 = 30)

Answer any three questions

16. Explain instrumentation system with a block diagram.

QFWNHSHEAUNET DML SSHS SLLEMIDLIL| LILSS]|L 65T

eNersS.

17. What are the types of analyzers? Explain any three of
them.

uslume &smelseflen eemsssrT wWrma? gCGs eI

epestnilement effleurfl.

18. Describe Digital Multimeter with a neat block diagram.

61600T600{l608:8 LIGOEUEMSLDNElen S&HE SHLLEDDLIL| LILSSIL 65T

efeurfl.
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19.

20.

Describe Sampling oscilloscope with a neat block

diagram.

wrdfl Sleweo CHMsBullenen SG&HS SHLLEOWLIL LILSSIL 65T
efleurfl.

Explain testing radio receiver using computer

controlled test system.

aune\eotedl &peflemi semfliOms) Fngeond O\snewr® G&nsemeot

O\FWeNmS 6flens:Gs.

skkok
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AF-2492 BEC1C2

B.Sc. DEGREE EXAMINATION
NOVEMBER 2010

First Semester

Electronics and Communication
ELECTRONIC DEVICES AND CIRCUITS

(CBCS—2009 onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A (10 x 2 =20)
Answer all the questions

1. What do you understand by a Semi-conductor?

SOMSHLES 616060 6T6T60T?

2. Define rectifier efficiency.

WS HSHUTET HMEMETT EUEHTUWIM).

3. What is a transistor? Why is it called?

QI TETS6VLIT 6T6ITMITED 6T6IT6TT? ET63T HEUQUTM) HEWLPSSLI

uG3mEI?



4.

6.

7.

What do you mean by transistor biasing?

IQITESTS6TVLIT &ITITL| 6T6BTMITED 6T60T60T?

State the requirement for a transistor to be of class B

types.

Q@ lermendlsvLi alLGSS B auems aumasduns eUusnd

GHEWEUUITETT FaMISHENETS Sam)l.

What do you understand by feedback?

LNeITENTL'LLD 6T6dTMDITEL eT63TEDT?

What is an LC oscillator?

LC Siemeoulwiin ersstmmed etetrenr?
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8. What is meant by bistable multivibrator?

B (BBEm6ed LIGOEDSTOUMEIT ET6ITMITED 6T60T60T?

9. What is Miller Effect?

LSI6L6VIT 6fl6MeTEY ETETTMITEL 6T6TEDT?

10. Define amplification factor M of a FET.

om FET-6ir oLmp&s erevor M-g2 euemwwim).

Part-B (5x5=25)

Answer all questions

11 a. Draw and explain the V-I Characteristics of a pn

junction.

pn spdullesr V-1 dmlieuenysenet cuennbg eflend:es.

(Or)
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b.

12 a.

Derive an expression for the efficiency for a fall-wave

rectifier.

WP Sieweo HmSSulest Smenissnen Gsmenausmil euhHeil.

How will you draw d.c. load line on the output
characteristics of a transistor ? What is its

importance ?

d.C. @emewriifed 2 eiref® wHmD GeuefluiG HAmiiy

EUEDTSHEN6T GFTSHEMEVIELPEVLD eTeueumm) SiLomesflliimii?

(Or)

Describe the base resistor method of transistor

biasing.

legmedtdleoLiT FmTLlledT geumi L6STHEmL (Lpemmenwt efleurfl.
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13 a.

b.

14 a.

Discuss the principles of negative feedback in

amplifiers with a neat diagram.

aumsdsafleo SIS LS SHgIaumsEmen Q\serfleunest

ULSSIL 65T efleuns.

(Or)

With a neat circuit diagram, explain the working of

transformer-coupled transistor amplifer.

agefleunesr LLSFHIL6ST WetTomd) LlemevoriiL] iemmesTdlervLit

OUmHSHUTeT O\FWedLIM DL 66N &Ss.

Explain the working of a collpit’s oscillator with a neat

circuit.

smeolN. Semeoulwbniuiiesr OFwebLIM enL 6\serfleurent sHmILI

LULSGIL 65T eflens&s.

(Or)
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b. Explain the working of a monostable multivibrator.

RDEDMBEmed LIGOEOSTEUTET Q63TIN6T E1FWIEOLIM 6L 65618 G .

15 a. Sketch the circuit of a CS amplifier. Derive the

expression for the voltage gain at high frequencies.

CS aumsdulsir aphemm euemrs. 2wt AHPT6eussurserfleo

LI6TTETT(RSSLI CILIHSSSSMMesr Caemevemul sl hefl.

(Or)

b. Describe any two methods of liasing of JFET.

@m JFET-66 ey Seflssiu@h wennseflsd a@senb

SpevoremL efeurfl.

Part - C (3 x 10 =30)

Answer any three questions

16. A half-wave rectifier is used to supply 50V d.c. to a
resistive load of 800Q. The diode has a resistance of

250Q. Calculate a.c. voltage required.
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17.

KB Sieng AleweodmsPHuwnens 8002 Lep WetisemLEE S0V
d.c. WettesSD> Herflds LWETUGRSSILGSDE!. eHLGWITQEsT
WersemL 25Q GFHewaullLBWL a.C. LTRSS S WS

&600T5H BB S.

For the common base circuit show below, determine I

and Vs Assume the transistor to be of silicon.

S&ETEID NG Sligeumis &bled, 1 wpmid Vg -ewows

&HeHBEB®H. FedlaetT 1QNMETTHSOLIT 616018 \BHT6TE.
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18. When negative feedback is applied to an amplifier of
gain 100, the overall gain falls to 50.

1)  Calculate the fraction of the output voltage
feedback.

1) Ifthis fraction is maintained, calculate the value
of the amplifier gain required if the overall stage

gain is to be 75.

AUBHSSLD 100 Q&ML R CLGSSHS 1T LNeiTenml LD

Siefl&sIuELEUNE) CIbNSS SLIHSHSHD 509h5 GDDSME).

1)  WerteymLiu@ ceueflui® WieTenpsd L6iTeusens s

&600T5H BB S.

ii) @6 Leiterid BeweoBMISSLILILLITED, GGG EILIHSHSLD
75-948 SHUUSHSTET OILIHSSUTEIT CILIHES LDSLIEDLIS

&600T5H BB S.
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19.

20.

Find the operating frequency of a transistor collpitt’s

oscillator if C; = 0.001MF, C, = 0.01pF and L = 15uH.

C, = 0.001MF, C, = 0.01pF womb L = 15uH eesfle,
erreirdlevLi  smeollll  Seweoulwbmluiiesr QO FweoLITG

SHBTEEUETITEWETIT SHTETITS.

The amplifier shown below utilizers and n-channel FET
for which Vp = -2.0v and Ijgq = 1.65 mA. It is desired
to bias the circuit at I = 0.08 mA, using Vp, = 24v.
Assume r; >> Rd. Find (a) Vg, (b) gm, (¢) R, (d) Rd,
Such that the voltage gain is at least 20 dB, with R_ by

passed with a very large capacitance C_.

Vp = -2.0v wpmib I)¢q = 1.65 mA 6\&etorL 71-eumig:smed
FET-eww Spsneomib Ou®ss uwetu@ss1dng. Vop =
24v-eow nwetu®Gsd I = 0.8 mA-60 sbmese smiy

SleflesluL Geuetor®L. T, >> R je6is. s 2 wit e1Gs68
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R, epeord Cg ombmi euPUiLGSSeQIL 68T LIGTETIDSSL O ILI([HESLD
&mbs LLsh 20 dB-ws mes (a) Vg, (b) g,, (¢) R,
(d) R; Spdwebmens: smers.

skkok
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AF-2493 BEC 2C1

B.Sc. DEGREE EXAMINATION
NOVEMBER 2010

Second Semester

Electronics and Communication

CIRCUITS, NETWORKS ANALYSIS AND
SYNTHESIS

(CBCS—2009 onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A (10 x 2 =20)

Answer all the questions.

1. Whatis the power if energy equal to 50dJ is used in 2.5s.

2.5 efleormuiled 50J SpHmed LWSTUGSSLILLLTE & medr

6T60T60T?

2. State reciprocity theorem.

G aPiend CHHMSMSS Sam)s.




. What is transient time?

1B6mEOUTEOT SHITEVLD ETEITMITEDL ETEITE?

. State Kirchhoff’s current law.

Brganse et letTGeuiL eflfemwis samis.

. Distinguish between mean value and root mean square

value of an a.c. signal.

IMIBnF ensensuler Fanefl bSrenLUD LIWEHM) LDSLIHLIL|D

CamuGs3s S G.

. Define Q-factor of a coil.

R HLE smefer Q-snremflenw suenIwm).

. What are inverse h-parameters?

semeodp h-smewfllseir eretiemey wimemeu?

2 AF-2493




8. Define band-pass filter.

uLemL eueflB EuILILITEN6TT EuenIUIM).

9. Define Laplace transform.

BeoLIe0MEN 2_[HLDMHMSHEMETT CUEDIUIM).

10. Using Laplace transform find the s-domain equivalent

circuit of a resistor.

WeTsemL @ermledt s-gmiy Besm  &bDewpm  GevLieomen

2 _(HLMHDSENSLI LILETLBGSS SHTevors:.

Part-B (5x5=25)

Answer all questions.

11 a. Explain star-delta transformation with examples.

6ULMT - GILEOLN 2 (hOMDHMSENS 5 T[T 6007 HI&EHL 65T
NesGs.
(Or)
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b.

12 a.

State and explain Norton’s theorem.

BLeslletT GHHMSHENSSH sanl eflens@s.

Deduce an expression for the current in an R-L-C
circuit to which a voltage V cos (wt + 6) is applied.
Discuss the conditions for different damped

oscillations.

V cos (wt + 0) eteyid WletTevIpsED SHefleasiu@m. R-L-C
shmled eTGeL LSS MaTen CoHmeneuenw auhefl. LiedGeum)

SOLUIM| SNeWE06SHEHSHSTE [BLIBSHenetrsener efleund.

(Or)

Obtain the current through an R-L-C circuit to which

a constant voltage V is applied.

Beweowimesr Wietteorpssd V Seflasliu@d R-L-C sblesr

auIGwiwIesT L6HTEEUTTL L SH6DSLI 61LIM)S.
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13 a.

14 a.

Discuss the phase relation in pure resistor.

L6ITHEML 660 &L LEGTLITemL efleursd.

(Or)

Obtain an expression for the bandwidth of an R-L-C

circuit. Also obtain Q of the coil interms of bandwidth.

R-L-C abheypretiplesr LLenL DH&He0sBDETesr GamemeusnulLl
oumis. HbE smeafletr Q smyewillemw LWL HH05CH5TE

QFMLITLUGSSILD CHTemeusmWIL|D EILIMIS.

Deduce the expression for the characteristic

impedance of a symmetrical T-Section.

gw&dt T-uedstswiiu WetaendiliLssner Camenalenul

euhHef.

(Or)
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b.

15 a.

What are the open circuit impedence (Z) parameters?

Deduce them. Also show that Z,, = Z,,.

B0Hs SHM) Wete\eTSTIL (Z) sngellge eretiLieme wimemeu?

Sleunenm eumell. Z,, = 7, e1608 SHevordl.

State and prove initial and final value theorems.

SHIbL HMID SN WL CHHDmISmeNTs Fanl BMIeys.

(Or)

How will you find the s-domain equivalent circuit of

an inductor using Laplace transform? Explain.

M Grewr® &mefledr s-gmiy Bam &hHewm GevLiedmev

2 _(HLOMHMSENSLI LILTLIGSS eTeu6um) SMewrLimil? eNems@&s.
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Part - C (3 x 10 = 30)

Answer any three questions.

16. In the circuit shown determine the value of load
resistance when the load resistance draws maximum
power. Also find the value of the maximum power.
ULSE60 ST SHHHMIE0 LIEH LI6ITSHEmL 61LIIHLD SMEmetTLl E\MILD
Gungl Len LietTsemLulledr LDSLIemLIS SHTewrs. ILIHLD SHmevfledt

LDSLIEDLILILD SHTET0TS.

17. For the circuit shown below, find the current equation

when switch is opened at £=0.
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t=e0 &mefl SwEHELUEDLEUTEH S  STEYID  SHDled

TGO LSS MSTeTT CHMTENEUHUIS SHITET0TS.

18. A series RLC circuit has a quality factor of 5 at
50 rad/sec. The current flowing through the circuit at
resonance is 10A and the supply voltage is 100V. The
total impedance of the circuit is 20Q. Find the circuit

constants.

RLC egnLi apmMesr Q-smgewll 50 rad/sec 5 &pmis&
SleflaaLL@Ld Wietterwpsad 100V, es8ameaefled g et aufiGw
umub iilest@eormiiLb 10A . sbmlesr 61oM&s Wetteleoraditii 200.

&M LonNedleEenens: smesors.
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19. Find the A-parameters of the network shown below.

Spanemid aueweoSieniLitlen /i-snyenilsamens smetoms.

20. Find the Laplace transform of the function f(t) = 4¢3 +
t2—6t+ 17
(&) = 4¢3 + t?2 — 6t + T aeyb snifesr GeoLieomsiv

2 _(HLOMHDSHEMSHE SHTETTS.

skkok
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AF-2494 BEC3C1

B.Sc. DEGREE EXAMINATION
NOVEMBER 2010

Third Semester

Electronics and Communication

APPLICATIONS AND DESIGN WITH
ANALOG IC’s

(CBCS—2009 onwards)

Time : 3 Hours Maximum : 75 Marks

Part - A (10 x 2 = 20)

Answer all the questions

1. Differentiate monolithic and hybrid IC’s.

ROMDLIRSES OSTGSLILEF &DMI, Ben&HS60LIL OSTSLILF &b
Spdweunsmn CaimLBGSSIS.

2. List down the advantages of IC’s.

OBNGLILE shmisefles LweTLnGaHemen auflensLiLIGSS)s.

3. Draw the block diagram of a typical Op-Amp.

BWHIG OLHSS QTG SLLLILILSSN6sT UeDILILD.

1



4.

6.

Why negative feedback is used in amplifiers?

OLmSSsafled erdim Nettenm LD LWETUGSSI6US 616517

What is the difference between a basic comparator and

a Schmitt trigger?

QI SlQLILDL RUILIBEUTENSHGSLD, R1H FLSIQL SHT6TOTIEESLD 2_6iTer

eflsHLN&D er6tTE01?

What is a voltage limit? Why is it needed?

ETEUT(DSS  6TEDEMED  EIGITMITEL  ETETE? DG  eI6ir

GsemauLILBGHTDS?

List the most commonly used filters.

Wseb OLUMGeuTs LWeTUGSSILGD 6ulQLILIT6TSemerL

uLewsd (B .
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8. Define an Oscillator. How are they classified?

SisweouTwiHn) cueDIUIEDD EIFUIS. SEm6Y eTeUaTM) OUMSLIBSILI

L@SeTmerT?

9. Mention the two operating modes of 555 timer.

555 &IeaNILD 6)FWIEOLIBLD (LPEDMS6T BI6ureenesis GMILLIBES.

10. What is a VCO? Give two applications that require a

VCO.

VCO eaepned eretien? VCO GCoemeuiL@d Sresor®

2_LIGWINSMISHENETS Famis.

Part- B (5 x5=25)

Answer all questions

11 a. Discuss the epitaxial growth in IC fabrication.

IC eugeuemioLinigeo GmLm @i suarigd ubhm) efeurl.

(Or)
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b.

12 a.

Write down the significance of SSI, MSI, LSI, VLSI

Packages.

SSI, MSI, LSI, VLSI s:@aefen wpsdwssesams

TRGIS.

Explain the Op-Amp DC characteristics and AC

characteristics.

Bunigeaumsduisst DC uetryser wpmib AC e emen

eyl s.

(Or)

Explain the circuit action of an Integrator and a

Differentiator using Op-Amp.

BUKEG OUBSSMWS STEITL STGSLILITET LDMHMILD

aIeDSLILIBSSIeuTen &hmiserfer agweoLm igenesr efleurflgs.
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13 a.

14 a.

Discuss the characteristics of a comparator and

limitations of Op-Amp as comparator.

RuUiGeunefledtl UeRTLSEMOTWD, QWHG 6ILUBHSSDW

RUGeUTeTTS 65l6TSHGSS.

(Or)

Describe the working of Three terminal voltage

regulator.

CPEITM| (LPEDETTEISITERITL LSl6oTEtT(LDSS FIemiDLILITevlledT G1&Fued

LIMLIQ6m60T 65161TEh &,

Differentiate Band pass and Band reject filters.

LIL6ML &evoreumil MM LLenL 6flevssed 6uIQLILITEsTE 6merT

GamLBGS5I5.

(Or)
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b.

15 a.

Draw the circuit of Triangular wave generator and

explain its waveforms.

WP&CHTETT 6o 2_(HeunsSulledt &hHMlemest UEDNHEI HE65T

Olemev allgaumIGemer efleuflss.

Explain the operation of 555 timer as a monostable

multivibrator.

555 sip&nmb @rBeneo Led Sigiaunemns \FweLBGaImS

efeurfl.

(Or)

Explain the operating principles of a Phase locked

loop (PLL).

sLLD priew euemerwid (PLL) @emier igweounGs

SHgle5ms efleurfl.
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16.

17.

Part - C (3 x 10 =30)

Answer any three questions

Explain the types of Integrated circuits.

OBNGLILE shmisefles euemagenet LD efleurfl.

Determine the output voltage in each of the following
cases for the open-loop differential amplifier circuit.
Given that the Op-Amp is 741 with supply voltages =
+15V, A =2 x 10°.

i) V. 1=3uVde V.2 =-5uVdc

i) Vinl = 5mVrms Vin2 = 10mVrms

SDHG CUMEITLI EUMEHESH(D EILIHSHE SO 741 Sk LSS
Siget elBGwns Wetemwssbd = +15V, A = 2 x 10°
LWeTUBSSLILILB6iTongl. S 2 eTafGsEebsES, BbS

anilett e\euerlluiLpemens: &emTSBGEES.
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18.

19.

i) V. _1=3uVde V.2 =-5uVdc

1

i) Vinl = 5mVrms Vin2 = 10mVrms

Describe the circuit action of V/F and F/V converters.

V/F wipmib F/V wmisefies sbm). Q\gweoLinigement 6flomé&s.

For a particular phase shift oscillator, the following
specifications are given. C = 0.1uF, R = 3.9kQ and
| R¢/R; | = 29. Determine the frequency of Oscillation.

Q@ SLLLD BSHHLD dHeweoulwbhmluied, SpasevorL eMeurhisssit
aasn@sasiuL@ererenr. C = 0.1uF, R = 3.9kQ whmib
|R¢/R{| = 29 ererflled, Semeveyseafieir SiBieeuetorenemons:

&600T5H BB S.
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20. In the following astable multivibrator circuit, R, =
4.7kQ, Ry = 1kQ, C = 1uF. Determine the positive pulse

width t,, negative pulse width t; and free running

frequency f,.
R\= 7
555 — output
Ry = 6 5
N
L C, = 0.01uF

SipsevorL. Bemeowim LisdSidTeunedr sled R, = 4.7kQ, Ry =
1kQ, C = 1pF eevfled Gmit glipLi| Sig6old t, e1iigiieriL| Sise0Ld

tq LOHDID SLEUMLHD HST616U6TTT SpBWEUDEDDS SHETTSHSEBS.

+———out
R 6 555 3 outpu
R
1: C,=0.01pF
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AF-2495 BEC 3C2

B.Sc. DEGREE EXAMINATION
NOVEMBER 2010

Third Semester

Electronics and Communication

DIGITAL ELECTRONICS AND LOGIC DESIGN
(CBCS—2009 onwards)

Time : 3 Hours Maximum : 75 Marks

Part - A (10 x 2 =20)

Answer all the questions

1. Convert the 1011.1101,, into its equivalent decimal

number
1011.1101,2 Sish©& Qewewrinest SFLOLNCITE 616T0T6H0TTE
LDTDOMIS?

2. Simplify the given expression Y =x (x' +y)

E1&MB&HSLILILB6ITET FLETUM 6L &(HHSS Y = X (X' + )

3. Whatis a full subtractor?

WP SPIILITEIT 6T63TMITED 6T65T60T?



. What is a priority encoder?

PSETTENLD 6TETTEHITLIT 6T63TMITED 6T6TE0T?

. What is a DFF?

1Q. 6TSoLl. 6TSoLl 6TE3TMITED 6T6TTE0T?

. Name the different types of Shift Register.

wmhm UHeMufetr LOGaum) suens:SHEmaTL QLGS ?

. Why CMOS is faster than NMOS?

gloreny, eT6dTomev-22 6fl. HHCEUSHLDTETTS), E160T?

. What are the drawbacks of ECL?

8).9).6160-60T LINGHTEUTEMLEYSHEIT WITEMEUT
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9. What is the difference between SRAM and DRAM?

61610 D4(T.67.6TLD LDHMILD 19.SpiT.61.61D GewL Guiwjeiter GaumiLin®

61601601 ?

10. What is a PLD?

19.6T60.19 6TEBTMITED 6TEITEI?
Part - B (5 x5=25)

Answer all questions

11 a. Convert the given expression to other canonical form

F(A,B,C,D)=2(0,2,6,11,13, 14)

Q&ME&HSULLB6TET GMemW SG6T MHM DMIENIQEILDTE

wmbmis. F(A, B, C, D) =X (0, 2, 6, 11, 13, 14)

(Or)

b. Write short notes on “Decimal Codes”

& LetTev1d GHIUIG - GSMILIL cuemTs.
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12 a.

13 a.

Derive the Boolean functions for the two outputs of a

full adder.

W Fal@ellliLmesfsir S eeuerfluiGaamen LyeSwietr FmienL

au(H6efl?

(Or)

Design a 3 to 8 decoder.

3-6N(bg 8asme REHTLeDT - HULNG?

Draw and explain the Logic diagram of a 3-bit binary

counter.

3-B605:5 B I erewreniule eumSuied ShHenmn euemIHS

NesGs.

(Or)
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b.

14 a.

Explain the 4-bit weighted resistor type D/A conveter
in detail.
4-@eoss HINILLILLL WeitsemL D/A bl euensaemer

NesGs.

Explain with the aid of a circuit diagram the operation

of a DTL two-input NAND gate.

ip.le.et60 NAND gate eir e\gweoLimigenesr 2wl LIL&gIL6tr

NesGs.

(Or)

Explain ECL characteristics.

B.8.6160-65T LIGTOTL|SH6M6IT 651615HESS5.
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15 a. Draw the basic circuit of a ROM cell and explain its

working.

ROM-6t1 SiigliLienL & &DNemesT euenibd 60T GeuemeemiL

NesGs.

(Or)

b. Write a note on Analog Memory.

QBMLIT [Bemesteusid - GSMILOILILDESIS.

Part - C (3 x 10 =30)

Answer any three questions

16. Simplify the following Boolean expression

F(A,B,C,D,E)=%(0,2,4,6,9, 11, 13, 15, 17, 21, 25,
27,29, 31)
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17.

18.

19.

SDSHEWTL LpeOIWLIEH FLDETLIMLEOL Si(HdH&SS.

F(A,B,C,D,E)=%(0,2,4,6,9, 11, 13, 15, 17, 21, 25,
27,29, 31)

Describe a magnitude comparator.

wdliy @rnitie - efleurfl.

Describe the operation of Successive approximation

type A/D converter with necessary diagram.

655055 Gsmumw wHNILGE A/D wrHm euewsulsir

Geuenevsmuwt 2_iflus LLGgIL 60T feurfl.

Describe the operation of CMOS NAND and NOR gates.

dwnev NAND pmio NOR gates asefletr e\guieoLimipemner
efleurfl.
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20. Discuss in detail about the Magnetic bubble memory

and Magnetic core memory.

&Mbs G [Bewemeusid DHMID &M 2 _6TansHD [Benesreussd

efeurfl.

skkok
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